OMmRON

ﬂ% /:.—"E
[J — s
R iR T
2021412818
R AR No. 2021003C(2)

FRERBHRERBRE2ERFIERIZLN . ARTEHAERIBBE2E2R BRI
KBS AL SR E3EMATE R 3& A HEZiEm

(BEFIFRD

202141 B & HH~ M5 ENo. 2021003CHHFEMBE R ZRPEHE—NES L4 Tk,
5ai—hieiEtt, =2 mE2E-XSMF1-M1RI#EEFE B R FTmET AE2E-X5MB1D12-M1,

SHFABERNEN, RITAREE, BSFIBMAFLULRAN. 2021003C (2) (F2021F1281H%%H)
RE.

== EFENBERTH
FroEREIR R RRES FroERIEIR R RRES
E2ERFIER3ILT
o KRB RS E2E NEXTRIIER3Z%R
E2E2%5IE R 3% B RSB R ES,
KIS IR R ES
E2EMARFIBER3ZLN
W7 SrEOE HAA
2022438 ik
KEHIEAH
20226 A ik
BEFNBXKTRIEESEM
PEUIER . WEETREBHKEURSEIIBHNRIPFBIHIRTHEESR.
B5E~FFRPNRRR
BENER TGRS zﬁﬂ"’ MERT | e | RERT gﬁ,ﬁﬁ?ﬂ RN | RAERA
E2ERFIER3IZ%N O O O © O O —
E2E2RFIER3% @) O @) ©) @) @) —
E2EMARFIE R 3% @) @) @) © @) @) —
O: BH
O: N FLEN/EHEMENER
X BEEK
—: THNRE
BiEEEREEFNER "R
=R EENER~R
E2E-X5E1-2 5M THEFNBE RS,
E2E-X2F2-16 5M THEFNBER =R,
E2E-X2F1-16 5M THEFHBE R~ R,

OMRON Corporation Industrial Automation Company No. APDE-211401




OMmRON

FEEq BENERTR
E2E-X2E1-2 5M TEFENERK .
E2E-X2E1-16 5M THFNER @,
E2E-X1R5E1-2 5M THEENBER @,
E2E-X10E1-2 5M THEENER @,

E2E-X5MF2-M1

E2E-X5MB212-M1

E2E-X5MF2 5M

E2E-X5MB212 5M

E2E-X5MF2 2M

E2E-X5MB212 2M

E2E-X5MF1-R 2M

E2E-X5MB1D12-R 2M

E2E-X5MF1-M1J 0.3M

E2E-X5MB1D12-M1TJ 0.3M

E2E-X5MF1-M1

E2E-X5MB1D12-M1

E2E-X5MF1 5M

E2E-X5MB1D12 5M

E2E-X5MF1 2M

E2E-X5MB1D12 2M

E2E-X5ME2-R 5M

E2E-X5MC212-R 5M

E2E-X5ME2-R 2M

E2E-X5MC212-R 2M

E2E-X5ME2-M1

E2E-X5MC212-M1

E2E-X5ME25 5M

FHEFR BN,

E2E-X5ME25 15M

FHEFRBENR " m.

E2E-X5ME2 5M

E2E-X5MC212 5M

E2E-X5ME2 2M

E2E-X5MC212 2M

E2E-X5ME2 15M

FRENE R R,

E2E-X5ME1-R 5M

E2E-X5MC112-R 5M

E2E-X5ME1-R 2M

E2E-X5MC112-R 2M

E2E-X5ME1-M1TJ 0.3M

E2E-X5MC112-M1TJ 0.3M

E2E-X5ME1-M1

E2E-X5MC112-M1

E2E-X5ME15 5M

FAEF B &.

E2E-X5ME1-10 2M

FHEFR BN,

E2E-X5ME1 5M

E2E-X5MC112 5M

E2E-X5ME1 2M

E2E-X5MC112 2M

E2E-X5F2-R 5M

E2E-X5B218-R 5M

E2E-X5F2-M1J 0.3M

E2E-X5B218-M1TJ 0.3M

E2E-X5F2-M1 E2E-X5B218-M1
E2E-X5F2 5M E2E-X5B218 5M
E2E-X5F2 2M E2E-X5B218 2M

E2E-X5F2 10M

FHEFR BN,

E2E-X5F1-R 5M

E2E-X5B1D18-R 5M

E2E-X5F1-R 2M

E2E-X5B1D18-R 2M

E2E-X5F1-M1J 0.3M

E2E-X5B1D18-M1TJ 0.3M

E2E-X5F1-M1 E2E-X5B1D18-M1
E2E-X5F1 5M E2E-X5B1D18 5M
E2E-X5F1 2M E2E-X5B1D18 2M

E2E-X5E2-R 5M

E2E-X5C218-R 5M

E2E-X5E2-R 2M

E2E-X5C218-R 2M

E2E-X5E2-M1J 0.3M

E2E-X5C218-M1TJ 0.3M

E2E-X5E2-M1

E2E-X5C218-M1

E2E-X5E25-M1 THEENER .
E2E-X5E25 5M THEENBE R~
E2E-X5E2 5M E2E-X5C218 5M
E2E-X5E2 30M THEENER R,
E2E-X5E2 2M E2E-X5C218 2M




OMmRON

B

EFNER~m

E2E-X5E1-R 5M

E2E-X5C118-R 5M

E2E-X5E1-R 2M

E2E-X5C118-R 2M

E2E-X5E1-M1TJ 0.3M

E2E-X5C118-M1TJ 0.3M

E2E-X5E1-M1J 0.3M

E2E-X5C118-M1TJ 0.3M

E2E-X5E1-M1

E2E-X5C118-M1

E2E-X5E15-R 2M TEFENERK .
E2E-X5E15-40 5M THFNER @,
E2E-X5E1-40 5M FTHEENER @,
E2E-X5E1-2 2M TIEFENERK .
E2E-X5E1-2 10M THFNER @,
E2E-X5E1-14 2M THEENBER R,
E2E-X5E1-10 5M THEENER @,

E2E-X5E1 5M

E2E-X5C118 5M

E2E-X5E1 2M

E2E-X5C118 2M

E2E-X2MF2-M3

E2E-X2MB28-M3

E2E-X2MF2-M1

E2E-X2MB28-M1

E2E-X2MF2 5M OMS

E2E-X2MB28 5M

E2E-X2MF2 2M

E2E-X2MB28 2M

E2E-X2MF1-R 2M

E2E-X2MB1D8-R 2M

E2E-X2MF1-M3

E2E-X2MB1D8-M3

E2E-X2MF1-M1

E2E-X2MB1D8-M1

E2E-X2MF1 5M

E2E-X2MB1D8 5M

E2E-X2MF1 2M

E2E-X2MB1D8 2M

E2E-X2ME2-M3

E2E-X2MC28-M3

E2E-X2ME2-M1

E2E-X2MC28-M1

E2E-X2ME2 5M

E2E-X2MC28 5M

E2E-X2ME2 2M

E2E-X2MC28 2M

E2E-X2ME1-R 5M

E2E-X2MC18-R 5M

E2E-X2ME1-R 2M

E2E-X2MC18-R 2M

E2E-X2ME1-M3

E2E-X2MC18-M3

E2E-X2ME1-M1

E2E-X2MC18-M1

E2E-X2ME1 5M

E2E-X2MC18 5M

E2E-X2ME1 2M

E2E-X2MC18 2M

E2E-X2F2-R 5M

E2E-X2B212-R 5M

E2E-X2F2-M1J 0.3M

E2E-X2B212-M1TJ 0.3M

E2E-X2F2-M1 E2E-X2B212-M1
E2E-X2F2 5M E2E-X2B212 5M
E2E-X2F2 2M E2E-X2B212 2M

E2E-X2F1-R 5M

E2E-X2B1D12-R 5M

E2E-X2F1-R 2M

E2E-X2B1D12-R 2M

E2E-X2F1-M1J 0.3M

E2E-X2B1D12-M1TJ 0.3M

E2E-X2F1-M1 E2E-X2B1D12-M1
E2E-X2F1 5M E2E-X2B1D12 5M
E2E-X2F1 2M E2E-X2B1D12 2M
E2E-X2E2-R 2M E2E-X2C212-R 2M
E2E-X2E2-M1 E2E-X2C212-M1
E2E-X2E25 5M THEENBE R~
E2E-X2E25 2M THEENER~ R
E2E-X2E2-1 2M THEENER .




OMmRON

B

EFNER~m

E2E-X2E2 5M

E2E-X2C212 5M

E2E-X2E2 2M

E2E-X2C212 2M

E2E-X2E1-R 5M

E2E-X2C112-R 5M

E2E-X2E1-R 2M

E2E-X2C112-R 2M

E2E-X2E1-M1J 0.3M

E2E-X2C112-M1TJ 0.3M

E2E-X2E1-M1

E2E-X2C112-M1

E2E-X2E15 5M THEENBER @,
E2E-X2E1-1 5M THEENER .
E2E-X2E1-1 2M THEENBERK @
E2E-X2E1-1 10M THEFNBER @,

E2E-X2E1 5M

E2E-X2C112 5M

E2E-X2E1 2M

E2E-X2C112 2M

E2E-X1R5F2-R 5M

E2E-X1R5B28-R 5M

E2E-X1R5F2-M3

E2E-X1R5B28-M3

E2E-X1R5F2-M1J 0.3M

E2E-X1R5B28-M1TJ 0.3M

E2E-X1R5F2-M1

E2E-X1R5B28-M1

E2E-X1R5F2 5M

E2E-X1R5B28 5M

E2E-X1R5F2 2M

E2E-X1R5B28 2M

E2E-X1R5F1-R 5M

E2E-X1R5B1D8-R 5M

E2E-X1R5F1-R 2M

E2E-X1R5B1D8-R 2M

E2E-X1R5F1-M3

E2E-X1R5B1D8-M3

E2E-X1R5F1-M1J 0.3M

E2E-X1R5B1D8-M1TJ 0.3M

E2E-X1R5F1-M1

E2E-X1R5B1D8-M1

E2E-X1R5F1 5M

E2E-X1R5B1D8 5M

E2E-X1R5F1 2M

E2E-X1R5B1D8 2M

E2E-X1R5E2-R 5M

E2E-X1R5C28-R 5M

E2E-X1R5E2-R 2M

E2E-X1R5C28-R 2M

E2E-X1R5E2-M3

E2E-X1R5C28-M3

E2E-X1R5E2-M1

E2E-X1R5C28-M1

E2E-X1R5E2 5M

E2E-X1R5C28 5M

E2E-X1R5E2 2M

E2E-X1R5C28 2M

E2E-X1R5E1-R 5M

E2E-X1R5C18-R 5M

E2E-X1R5E1-R 2M

E2E-X1R5C18-R 2M

E2E-X1R5E1-R 15M

FARBRE RS R

E2E-X1R5E1-M3

E2E-X1R5C18-M3

E2E-X1R5E1-M1J 0.3M

E2E-X1R5C18-M1TJ 0.3M

E2E-X1R5E1-M1

E2E-X1R5C18-M1

E2E-X1R5E1-40 5M THEENER 5.
E2E-X1R5E1-40 2M FTHEENER .
E2E-X1R5E1 5M E2E-X1R5C18 5M
E2E-X1R5E1 40M THEENER 5.

E2E-X1R5E1 2M

E2E-X1R5C18 2M

E2E-X18MF2-M1J 0.3M

E2E-X18MB230-M1TJ 0.3M

E2E-X18MF2-M1

E2E-X18MB230-M1

E2E-X18MF2 5M

E2E-X18MB230 5M

E2E-X18MF2 2M

E2E-X18MB230 2M

E2E-X18MF1-R 2M

E2E-X18MB1D30-R 2M

E2E-X18MF1-M1J 0.3M

E2E-X18MB1D30-M1TJ 0.3M

E2E-X18MF1-M1

E2E-X18MB1D30-M1




OMmRON

B

EFNER~m

E2E-X18MF1 5M

E2E-X18MB1D30 5M

E2E-X18MF1 2M

E2E-X18MB1D30 2M

E2E-X18ME2-M1

E2E-X18MC230-M1

E2E-X18ME25 5M

FAEF B &.

E2E-X18ME25 15M

FHEFR BN,

E2E-X18ME2 5M

E2E-X18MC230 5M

E2E-X18ME2 2M

E2E-X18MC230 2M

E2E-X18ME2 15M

FHEFR BN,

E2E-X18ME2 10M

FHEFR BN m.

E2E-X18ME1-R 5M

E2E-X18MC130-R 5M

E2E-X18ME1-R 2M

E2E-X18MC130-R 2M

E2E-X18ME1-M1TJ 0.3M

E2E-X18MC130-M1TJ 0.3M

E2E-X18ME1-M1J 0.3M

E2E-X18MC130-M1TJ 0.3M

E2E-X18ME1-M1

E2E-X18MC130-M1

E2E-X18ME1 5M

E2E-X18MC130 5M

E2E-X18ME1 40M

FHEFR BN,

E2E-X18ME1 2M

E2E-X18MC130 2M

E2E-X10MF2-M1

E2E-X10MB218-M1

E2E-X10MF2 5M

E2E-X10MB218 5M

E2E-X10MF2 2M

E2E-X10MB218 2M

E2E-X10MF1-R 2M

E2E-X10MB1D18-R 2M

E2E-X10MF1-M1J 0.3M

E2E-X10MB1D18-M1TJ 0.3M

E2E-X10MF1-M1

E2E-X10MB1D18-M1

E2E-X10MF1 5M

E2E-X10MB1D18 5M

E2E-X10MF1 2M

E2E-X10MB1D18 2M

E2E-X10ME2-M1

E2E-X10MC218-M1

E2E-X10ME25 5M

FARENER R,

E2E-X10ME2 5M

E2E-X10MC218 5M

E2E-X10ME2 2M

E2E-X10MC218 2M

E2E-X10ME2 20M

TR BN,

E2E-X10ME2 15M

FHEFR BN,

E2E-X10ME1-R 5M

E2E-X10MC118-R 5M

E2E-X10ME1-R 2M

E2E-X10MC118-R 2M

E2E-X10ME1-R 10M

FHEFR BN M@,

E2E-X10ME1-N-ECON 0.6M

FRENER R,

E2E-X10ME1-M1TJ 0.3M

E2E-X10MC118-M1TJ 0.3M

E2E-X10ME1-M1J 0.3M

E2E-X10MC118-M1TJ 0.3M

E2E-X10ME1-M1

E2E-X10MC118-M1

E2E-X10ME15-M1J 0.3M THEENBERK @,
E2E-X10ME15-40 5M TEFENERK .
E2E-X10ME1-40 5M THFNER @,
E2E-X10ME1-40 2M FTHEENER @,

E2E-X10ME1 5M

E2E-X10MC118 5M

E2E-X10ME1 2M

E2E-X10MC118 2M

E2E-X10F2-M1J 0.3M

E2E-X10B230-M1TJ 0.3M

E2E-X10F2-M1

E2E-X10B230-M1

E2E-X10F2 5M

E2E-X10B230 5M

E2E-X10F2 2M

E2E-X10B230 2M

E2E-X10F1-R 5M

E2E-X10B1D30-R 5M




OMmRON

B

EFNER~m

E2E-X10F1-R 2M

E2E-X10B1D30-R 2M

E2E-X10F1-M1J 0.3M

E2E-X10B1D30-M1TJ 0.3M

E2E-X10F1-M1

E2E-X10B1D30-M1

E2E-X10F1-2 2M

TAEFE R~ M.

E2E-X10F1 5M

E2E-X10B1D30 5M

E2E-X10F1 2M

E2E-X10B1D30 2M

E2E-X10F1 10M FTHEENER .
E2E-X10E2-M1 E2E-X10C230-M1

E2E-X10E25 5M OMS THEENER~ 5.
E2E-X10E25 2M FTHEENE R~

E2E-X10E2 5M

E2E-X10C230 5M

E2E-X10E2 2M

E2E-X10C230 2M

E2E-X10E2 20M

FHEFR BN,

E2E-X10E1-R 5M

E2E-X10C130-R 5M

E2E-X10E1-R 2M

E2E-X10C130-R 2M

E2E-X10E1-R 20M THEENEKR =M.
E2E-X10E1-M1TJ 0.3M E2E-X10C130-M1TJ 0.3M
E2E-X10E1-M1J 1M THEFNBER =R,

E2E-X10E1-M1J 0.3M

E2E-X10C130-M1TJ 0.3M

E2E-X10E1-M1

E2E-X10C130-M1

E2E-X10E1-9 2M THEENBER~ R
E2E-X10E15-40 5M THEENER~ R
E2E-X10E1-2 2M THEENER 5.
E2E-X10E1 5M E2E-X10C130 5M
E2E-X10E1 45M THEENER~ R
E2E-X10E1 30M FTHEENER .
E2E-X10E1 2M E2E-X10C130 2M
E2E-X10E1 25M THEENER~GR.
E2E-X10E1 15M FTHEENER .

E2EM-X8C2-M1

E2E-X8C218-M1

E2EM-X8C2 5M

E2E-X8C218 5M

E2EM-X8C2 2M

E2E-X8C218 2M

E2EM-X8C1-M1J 0.3M

E2E-X8C118-M1TJ 0.3M

E2EM-X8C1-M1

E2E-X8C118-M1

E2EM-X8C1 5M

E2E-X8C118 5M

E2EM-X8C1 2M

E2E-X8C118 2M

E2EM-X8B2-M1

E2E-X8B218-M1

E2EM-X8B2 5M

E2E-X8B218 5M

E2EM-X8B2 2M

E2E-X8B218 2M

E2EM-X8B1-M1-1

FHEFR BN,

E2EM-X8B1-M1

E2E-X8B1D18-M1

E2EM-X8B1 5M

E2E-X8B1D18 5M

E2EM-X8B1 2M

E2E-X8B1D18 2M

E2EM-X4C2-M1

E2E-X4C212-M1

E2EM-X4C2 5M

E2E-X4C212 5M

E2EM-X4C2 2M

E2E-X4C212 2M

E2EM-X4C1-M1

E2E-X4C112-M1

E2EM-X4C1 5M

E2E-X4C112 5M

E2EM-X4C1 2M

E2E-X4C112 2M

6




OMmRON

B

EFNER~m

E2EM-X4B2-M1

E2E-X4B212-M1

E2EM-X4B2 5M

E2E-X4B212 5M

E2EM-X4B2 2M

E2E-X4B212 2M

E2EM-X4B1-M1

E2E-X4B1D12-M1

E2EM-X4B1 5M

E2E-X4B1D12 5M

E2EM-X4B1 2M

E2E-X4B1D12 2M

E2EM-X2C2-M1

E2E-X2C28-M1

E2EM-X2C2 5M

E2E-X2C28 5M

E2EM-X2C2 2M

E2E-X2C28 2M

E2EM-X2C1-M1J 0.3M

E2E-X2C18-M1TJ 0.3M

E2EM-X2C1-M1

E2E-X2C18-M1

E2EM-X2C1 5M

E2E-X2C18 5M

E2EM-X2C1 2M

E2E-X2C18 2M

E2EM-X2B2-M1

E2E-X2B28-M1

E2EM-X2B2 5M

E2E-X2B28 5M

E2EM-X2B2 2M

E2E-X2B28 2M

E2EM-X2B1-M1

E2E-X2B1D8-M1

E2EM-X2B1 5M

E2E-X2B1D8 5M

E2EM-X2B1 2M

E2E-X2B1D8 2M

E2EM-X15C2-M1

E2E-X15C230-M1

E2EM-X15C2 5M

E2E-X15C230 5M

E2EM-X15C2 2M

E2E-X15C230 2M

E2EM-X15C1-M1J 0.3M

E2E-X15C130-M1TJ 0.3M

E2EM-X15C1-M1

E2E-X15C130-M1

E2EM-X15C1-40 2M

FHEFR BN m.

E2EM-X15C1 5M

E2E-X15C130 5M

E2EM-X15C1 2M

E2E-X15C130 2M

E2EM-X15B2-M1

E2E-X15B230-M1

E2EM-X15B2 5M

E2E-X15B230 5M

E2EM-X15B2 2M

E2E-X15B230 2M

E2EM-X15B1-M1J 0.3M

E2E-X15B1D30-M1TJ 0.3M

E2EM-X15B1-M1

E2E-X15B1D30-M1

E2EM-X15B1 2M

E2E-X15B1D30 2M

E2E2-X5MC2-M1

E2E-X5MC2L12-M1

E2E2-X5MC2 5M

E2E-X5MC2L12 5M

E2E2-X5MC2 2M

E2E-X5MC2L12 2M

E2E2-X5MC1-M1

E2E-X5MC1L12-M1

E2E2-X5MC1 5M

E2E-X5MC1L12 5M

E2E2-X5MC1 2M

E2E-X5MC1L12 2M

E2E2-X5MC1 10M

TAEF B,

E2E2-X5MB2-M1

E2E-X5MB2L12-M1

E2E2-X5MB2 5M

E2E-X5MB2L12 5M

E2E2-X5MB2 2M

E2E-X5MB2L12 2M

E2E2-X5MB1-M1

E2E-X5MB1DL12-M1

E2E2-X5MB1 5M

E2E-X5MB1DL12 5M

E2E2-X5MB1 2M

E2E-X5MB1DL12 2M

E2E2-X5C2-M1

E2E-X5C2L18-M1

E2E2-X5C2 5M

E2E-X5C2L18 5M

E2E2-X5C2 2M

E2E-X5C2L18 2M

E2E2-X5C1-M1

E2E-X5C1L18-M1




OMmRON

B

EFNER~m

E2E2-X5C1-1 0.25M

FHEFR BN m.

E2E2-X5C1 5M

E2E-X5C1L18 5M

E2E2-X5C1 2M

E2E-X5C1L18 2M

E2E2-X5C1 15M

FHEFRBENR " m.

E2E2-X5B2-M1

E2E-X5B2L18-M1

E2E2-X5B2 5M

E2E-X5B2L18 5M

E2E2-X5B2 2M

E2E-X5B2L18 2M

E2E2-X5B2 10M THEENEKR =M.
E2E2-X5B1-M1 E2E-X5B1DL18-M1
E2E2-X5B1-10 2M THEFNBER 5.

E2E2-X5B1 5M

E2E-X5B1DL18 5M

E2E2-X5B1 2M

E2E-X5B1DL18 2M

E2E2-X2C2-M1

E2E-X2C2L12-M1

E2E2-X2C2 5M

E2E-X2C2L12 5M

E2E2-X2C2 2M

E2E-X2C2L12 2M

E2E2-X2C1-M1

E2E-X2C1L12-M1

E2E2-X2C1 5M

E2E-X2C1L12 5M

E2E2-X2C1 3M THEENBER =M.
E2E2-X2C1 2M E2E-X2C1L12 2M
E2E2-X2C1 10M THEFNBEKR 5.

E2E2-X2B2-M1

E2E-X2B2L12-M1

E2E2-X2B2 5M

E2E-X2B2L12 5M

E2E2-X2B2 2M

E2E-X2B2L12 2M

E2E2-X2B1-M1

E2E-X2B1DL12-M1

E2E2-X2B1 5M

E2E-X2B1DL12 5M

E2E2-X2B1 2M

E2E-X2B1DL12 2M

E2E2-X18MC2-M1

E2E-X18MC2L30-M1

E2E2-X18MC2 5M

E2E-X18MC2L30 5M

E2E2-X18MC2 2M

E2E-X18MC2L30 2M

E2E2-X18MC1-M1

E2E-X18MC1L30-M1

E2E2-X18MC1 5M

E2E-X18MC1L30 5M

E2E2-X18MC1 2M

E2E-X18MC1L30 2M

E2E2-X18MC1 15M

FHEFR BN,

E2E2-X18MC1 10M

FHEFR BN m.

E2E2-X18MB2-M1

E2E-X18MB2L30-M1

E2E2-X18MB2 2M

E2E-X18MB2L30 2M

E2E2-X18MB1-M1

E2E-X18MB1DL30-M1

E2E2-X18MB1 5M

E2E-X18MB1DL30 5M

E2E2-X18MB1 2M

E2E-X18MB1DL30 2M

E2E2-X10MC2-M1

E2E-X10MC2L18-M1

E2E2-X10MC2 5M

E2E-X10MC2L18 5M

E2E2-X10MC2 2M

E2E-X10MC2L18 2M

E2E2-X10MC1-M1

E2E-X10MC1L18-M1

E2E2-X10MC1 5M

E2E-X10MC1L18 5M

E2E2-X10MC1 3M

FHEFR BN,

E2E2-X10MC1 2M

E2E-X10MC1L18 2M

E2E2-X10MB2-M1

E2E-X10MB2L18-M1

E2E2-X10MB2 2M

E2E-X10MB2L18 2M

E2E2-X10MB1-M1

E2E-X10MB1DL18-M1




OMmRON

B

EFNER~m

E2E2-X10MB1 5M

E2E-X10MB1DL18 5M

E2E2-X10MB1 2M

E2E-X10MB1DL18 2M

E2E2-X10MB1 10M

FHEFR BN,

E2E2-X10C2-M1

E2E-X10C2L30-M1

E2E2-X10C2 5M

E2E-X10C2L30 5M

E2E2-X10C2 2M

E2E-X10C2L30 2M

E2E2-X10C2 10M

TAEFE R~ M@,

E2E2-X10C1-M1

E2E-X10C1L30-M1

E2E2-X10C1 5M

E2E-X10C1L30 5M

E2E2-X10C1 2M

E2E-X10C1L30 2M

E2E2-X10C1 10M

FHEFR BN m.

E2E2-X10B2-M1

E2E-X10B2L30-M1

E2E2-X10B2 2M

E2E-X10B2L30 2M

E2E2-X10B1-M1

E2E-X10B1DL30-M1

E2E2-X10B1 5M

E2E-X10B1DL30 5M

E2E2-X10B1 2M

E2E-X10B1DL30 2M




OMmRON

BEEREE
=~ m HEENER~m
E2E/E2E2/E2EM ARSI E i34 E2E NEXTRFIER3%&R
RNES®: %kE wamame: Bagiire (EXBS)
BRAT: 46 ERAT: 86
Wis i & /Ao 2k E S
FE~=m HEENER~m
E2ERF|ER3%R, E2E NEXTRFIBER3IZLN
B3k MR e B E B33\t B (B B
HERBEEMEHSN SRR TR
BNPNiE BNPNiH
!_" ais = :"'%7'5@@ DC‘IE\;‘*SOV
: | Ex
i A
i TR0 o
' % |
L JEEQ i
L. .Y
NP S ~ FE: TR
* ERHHE 1S ~ 3mA AR LN
b5 PR SR 775 U it | NCHL: DO
NO#: D@O®
NCH: OO
WPNPiG EPNPi#H
- X - - - DC10 ~ 30V
#ﬁé@ Y |— e —éaaﬁo o
: a
?;1&{§4|—K 1 :
e _ B L2600
o . i b i
: | g
N 3=16)
ov

T

e T HEHEMR
NO#: @G
NCH. D@0

E: KT EEMR
NOE: DO®
NCH: OO

R4y PNPEY = REL & 1/O-LinkiB {521

10




WinFRE /MR (40)

OMmRON

B EENEK~ R
E2E/E2E2/E2EM 7 E2E NEXTZ%
B 3%% 3\ 40 ) B ] B B 3%k 4t B ] B
SEHRFRME TR SRR AR
BENPN# ENPNi
S I BED T r——— WED DGO~ 30V
100Q : '
: ! Y | | (2]
i3 =sa0 ||z A
gg@ | e \!’gﬁ@ o
| yy : | % |
Eed Vi
___—___TJ\‘ ov L_________f‘__‘*?mﬁ@ ov
E: TR e TR
NOZ. DDO NOZ:. D@G
NCH: D@ NCH. D@
BPNP# BPNPHH
. = - - - 30 DC10 ~ 30V
| J oo £ |
FEE T M Eck \.'/
: v [22] ' ' :
1000Q Eed | " E@
- - oV |_ :lﬁjﬁﬁ@ ov
e LT AR e
NO®: D@®® NO#E: @B
NCZ: OOQ® NCH: DO
R4 PNPEI = BELZ1/O-Linki@ 515
BZER
== EENER~R
E2E/E2E2/E2EMARFIE F 3% E2E NEXTR&FIE R 3%
REFMIRT REFMIRT
THRERTARIRTHRELMIRT, REFMIRTETE.,
ZRIAMIRT ZEFAMIRT
RS FR~F RS FRF
ShE (mm) Mz (mm)
[l M8 ©8.5 05 N1 M8 ©85 05
[~ F M12 ©12.5705 ~F— M12 $12.5%05
M18 $18.5%35 M1s $18.5*35
M30 $30.5%9° M30 $30.5*3°

11




W5 R

RFHERPIEEHAT. HTFRIEO~R, BHITEE.

OMmRON

B

HEFENBER ™M

BRI T—R

E2EZ7! E2E NEXT
M8R~}
BS%&s5 1 HE B :
Rk D & ERAT
9 FREIOBR (SIOETR) .
——F——
o+ | g shiElRR GBEERT |
30 7 BT (BRI
26 | IO-LinkiE{EH#E5 (COMEER) :
ol ( BEEE R
—‘BI- 8 n - 3 BEET REE Efi1s) )
[ E —] - - L 2 EEEE
|=t e
i AT o Suapm SEABPECR T (M1TY)
M8x1 =
o-ZERE (FEER: NO. NCED M12xP1
TinEE ¢
RECHEERERNSYE 3T
M8, M12R5t: ¢4
=0 7 i atE e (EfERESE: NOL NCE)
e 26 (SHSEIR: 02mmI(AWG24), BE R ER S 3
443 a BIRKEIR: ¢ 1.05mm) M8, M12RF: o4
I‘ = IREKE 2m M18., M30R<T: ¢6
(SHFMER: 0.2mm (AWG24),
(EHEHE . NO/NCEIIRED HEFEER: ©1.05mm)
|| it = _ KR E 0.3m
*1 =
s == = 2 |
N R A 2 (LRI . NONCHIRE)
\ 2-FE [Ei & BEZHREENSL; 415
15 4 BRZAREETSE 415 M12R<t: 643
méﬁn?;:o;ifs o6 M18, M30RT: 06
(SEHER: 0.2mm*(ANG24). [ IRTIh G eas:
GHREEE: ¢1.05mm) == R
M8~} i FRAEKEE 0.3m
WiEEas
M8 E R
o G
me A el b 5] J
E2E (Q)-X[J8 M8XP1 378| 44 | 26 | — {‘;) 4 | 3 |15 13
E2E (Q)-XC12  |M12XP1 |471| 37 | 33 | — (‘1%‘ 4 | a |27
/
M8x1 E2E (Q)-XC18  |M18XP1  |553| 85 | 38 | — (‘120\ 4 | 4 | 20| 24
E2E(Q)-XO30 |M3oXP15 |603| 83 | 43 | — (‘5” 4 | 5 |43
E2EXCILS MBXP1 478|443 | — [ 8| — | 3|15 13
_ E2E-XCL12 Mi2xP1  |691|37 |55 | — [ 10| — | 4 [21 ] 17
L
kT E2E-X[JL18 M18XP1 77.3]| 85 60 == 10 = 4 29 24
E2E-XC]L30 M30XP15 |823|83 |65 | — |10 | — | 5 | 42| 36
Elg=rogidl
E G
RS A B|lc|D F il
%3 *2
F#aM1 25 a1 h
E2E-XCIMOI8 MBXP1 378|444 | 26 | 6 | 8 | — | 3 | 15| 13
43 E2E-X[IMLC112 M12XP1 4711 3.7 33 74 10 — 4 21 17
EJEXCIMCI18  |M18XP1 [553[ 85| 38 [ 10 [ 10 ] — | 4 [ 29 [ 24
30 E2E-XOMI30 M30XP1.5 60.3| 8.3 | 43 13 10 - 5 42 | 36
e 26— = E2E-XCIMCIL8 M8XP1 47.8| 4.4 | 36 | 6 8 = 3 | 15| 13
3 _"_8 M12X1 E2E-XOOMOL12 M12XP1 69.1| 3.7 55 T 10 — 4 21 17
‘—_ / E2E-XOMCIL18 M18XP1 77.3| 85 60 10 10 - 4 29 24
= = E2EXCIMOIL30  |M30XP15 | 823 83 | 65 (112) 10| - |5 |43
®,
1 1. () MIHIEAREREREQRTIFIAIE.
/ R #2. FMF (Y92E-JOSCDOBEHAR. “— TEMZIEEM.
M8 1 ‘{\ , IBIRAT %3 {EMX30MCI308, iHEE(15).
2-Z[ENZE
S
g B

12



WSMERT (85)

OMmRON

BEER

HEFENER ™M

E2EZ7! E2E NEXT
M8R <}
S B
e RMB G - R
le——39 S IO (SIOR)
cln g AR CR R,
—31 ' I‘ EEERCR AT
|| 10-LinkiE 5185t (COMAES ) :
26— SRR E AT,
a | a M8x1 i - il & F RIS R (G EIEAs))
s} o |
Y ) A ¢
061 - © HUEBE :
* 2-EEIFE ! i E2E(Q)-X[J8-M15,
v = ! G
Mex1 WO\ AT e
2-XEIZE
BB ne A 8| e |o|e|f|g|n|r]
E2E (Q)XCI8MamM5  |MeXP1 | 39 |MexP1 | 26 | — (150) 4|3 |15]13
H 10
JERHEM1 2553 H 14 E2E (Q)-X[I8-M1 MexP1 |43 [Mi2xPt |28 | — | 0| 4 | 3 |15 |13
E2E (QXCH2M1  |Mizxpt |48 [mizxpr |33 | — | 2| 4 | 4 |21 |17
43 (10)
30 E2E (Q)-XT18-M1 M18XP1 | 53 |M12XP1 | 38 | — (‘120) 4] 4 |20 |24
= 26 12
K ] M30XP15 | 58 |[M12XP1 | 43 | — 4 5 42 | 36
-~ : . M12x1 E2E (Q)-X[J30-M1 (10)
T = E2E-XCIL8-M2/M5 MexP1 |49 [MexP1 (36| — | 8 | — | 3 |15 13
* —’/ E2E-X[]L8-M1 M8XP1 53 [M12XP1 | 36 | — 8 - 3 15 | 13
¢é1 I o E2E XCIL12-M1 Mi2XP1 | 70 |Mi2xP1 | 85 | — |10 | — | 4 |21 | 17
é % L E2E XCIL18-M1 M18XP1 | 75 |M12xP1 |60 | — |10 | — | 4 |29 | 24
M8 ERET % E2E-XCIL30-M1 M30XP1.5 | 80 (M12XP1 | 85 | — | 10 | — | 5 | 42 | 36
1
2-REURE SR
HigE = =
e A Bl ¢ |D|a|FlalH|1]y
E2E-XOM8-M3/M5 M8XP1 39 | MB8XP1 26 6 8 - 3 15 13
MBRTJ- E2E-XCIM[I8-M1 M8XP1 43 [M12XP1 26 6 8 - 3 15 13
g ]
| EEr3riyaalastsisill E2E-XCIMOI12-M1 M12XP1 | 48 [M12xP1 |26 | 7 |10 | — | 4 |21 | 17
ﬁﬁ E2E-X(OM[]18-M1 M18XP1 53 | M12XP1 38 10 10 — 4 29 | 24
30 ¥ E2E-XCIM[I30-M1 M30XP1.5 | 58 [ M12XP1 43 13 10 — 5 42 | 36
=¥ E2EXCIMOILGM3MS  |MeXP1 | 49 [MexP1 |36 |6 | 8 | — | 3 |15 13
3’78" E2E XCIMOIL8-M1 MeXP1 |53 |[Mi2xP1 |36 | 6 | 8 | — | 3 | 15| 13
"E E2E-XOOIMOL12-M1 M12XP1 | 70 [M12XP1 | 55 | 7 |10 | — | 4 | 21 | 17
[ = E2EXCIMOL18-M1  |M18XP1 | 75 [Mi2xP1 [ 6o [ 10 [ 10| — | 4 [20 | 24
(RO *1
P \\ ETAT H2 E2E-XOMOL30-M1  |M3oxXP15 | 8o |mi2xp1 | 65 (11?;) 10| | 5 |4]38
2-EEIRE
HitE . () FREIEDIEBEREQRFIR HIE.
*2. MitF (YoE-JOISOHORE# AR, “— "FEMREAM.
|07
30 7
64 -8
v =
M8x1 ‘\‘\z,géiﬁgﬂ = M12x1

iR

13




WSMERT (85)

OMmRON

e HEENBR~H
E2EZ7% E2E NEXT
M12R~F BE F—N
BS&s5|HE
il
| 38 9 =
21— 33—+
17 —~—10]
(]
T ===
5T %2
MA12x1 \Q\zg@mﬁ
I
E| =07
33 [s}
.~ §21— 33
17 -7 4r—*~407
'
O L g s
* p 1
M1251 \z-ggmg??ﬂ #2
HHRHE
M12R <} 2% F—m
WiEEGR
i
48
— 21—+ 33
i ’[4 1o M12x1
/]
|
AN
4 ST
HEBE
E| =07
48
-~ 021 e 33|
17 7 41.’7107* M12x1
t 4
v HORAT %
M12x1 ‘\\2-2%9@&

HERE

14



WSMERT (85)

OMmRON

HEERNEN TR
E2E NEXT

Tt
E2EZA7
M12R <}
WA @R
i

$RIRAT 2 M12x1

N
e

W
S

M18R~F
WS4&5| LR
=27
12-=|
[——029
~—24—
— 5K
mﬂm 1
RAT %2
IE Gk
43 12-»]
029 38
[——24 10« 4T-710—+
e ==
AT %2 *

4 ~
M18x1 \ 2 EEER
i BE

W
A




OMmRON
WSMERT (85)

T HEFNER~R
E2EZR7I E2E NEXT
M18R~} SEZ F—N
WiEEGR
=30
53
38
M 10
M12x1
4
]
7 R *
M18x1 \\z-g@m?;a
wEEE
ek
53
38
i AT T
M12x1
/]
0148 : ':‘\
ST %
M18x1 SRR
HigTE
M18R~F B F—T
| FE3ra el 3l
=0

029 —|
24

M12x1

E[

16



WSMERST (40

OMmRON

et L
M30x1.5 \\ o X E 4B

et

58

42 i

135 101

36
%/ \§ ﬂ

—@®—

S\ M12x1
FETRAT &

W
M30x1.5 \J\z-g}@ﬂ!ﬁﬂ
i

B RERER &
EoER 7] E2E NEXT
M30/ <+ FEER
BS%&s5 1 HE
[
f— g ool
2 43
36 5T" =
7% | §§ - T
i N
IRRAT 42
4 ™
M30x1.5 N C2-RERE
W RE
kRl
48 {12+
042 a3
e (132 =5 e =101«
7 -
! ¢2L.B 4—-—
M30x1./5: (/\z,g%@mﬂ
B
M30R~F FEER
| Er3naesidl
[l
58
o 43

17



WSMERT (85)

OMmRON

T

*((—/

o

#1
HEIRAT 42

B HEENER~m
E2E %51 E2E NEXT
M30R < BELT
[ EE2n sk xidl
ik
w MBOM? \2_g§@ﬂ@
HEE
EE
42 o
H- ¢26.8 _H .
M30x1 {5( \\2_g@y‘:§l
HunE
EEER EENEXR~R
E2E2Z5 E2E NEXT
M12R < 5L
BS4&5|HE
i
0 f=9=]
021 —» 55
17 4r— rr10s
i —
=
i ‘\\ o-REEE e
U

18



WSMERT (85)

OMmRON

B

HENER =M

E2E2Z7 E2E NEXT
M18R <} 2EF—T
BS%&s5 1 HE
i
12+
j— 629 B0 |
[ﬁmj j4|« +—1off§
—=x
7 N $EAT 42 "
MNP o L
g
E| 3=
65 12+
[— 29 o 60 ~|
s I
14.8 (—V‘* i
i . FERAT 2
M18x1 rEEEE
wERE

M30R 2EF—T
BS%&s5 1 HE
i

=12+
'1oﬂ

1ERET %2

70 {12
os ﬂ
B R 5r 10

Sl #*1
— fEmAT w2
MSO/:S ‘\‘\ E
. 2 EERT
e

19



WSMERT (85)

OMmRON

Tt HEENBR~H
E2EMZZ) E2E NEXT
M8 <} SEZ F—N
WS%5 HEY
il
30 7 —f=—
015 26
13—‘ ’H* Ts—+
/7 FBKT %2 *
MBx1 NN\ g
g E
M8~} S F—N
WG
i
43
30
15 l—— 26
"13 *‘3‘* _q. M12x1
_/
@ =H
M/B(x1 *E'%_'H
2-FEIRE
A
M12R~F SEZ F—N
WS%5 HEY
il
38 -9 =
r¢21 33
17 +H+ 10 —f=-
2
il \z_gmiﬁﬂ %2
A
M12R~} SEZ F—N
WiEEGR
i
48
~—021 33
g £ 41—7 10—t MA1951
)l 4
| —
L
7 Yo mAT
M12x1 ‘\\2-2%@5@&
g

20



WSMERT (85)

OMmRON

FEEq HEFNENX~m
E2EMEZF] E2E NEXT
M18 BEER
BS&5 | HE
[
43 12
| 420 | 38
24 4 E e
B
A =
-
$BIRAT
M18></1’ \z-g@ﬁﬂ .
FERE
M18 BEER
MR AR
[
53
$29 | 38
|¢ 2 M12x1
/]
|
+ I |\
= $&IRAT
M18x1
2-RERE
T
M30R<F BEER
WS&s|HE
i
48 12—+
| 042 o
% T
| | =<
s
w || #mn
M30x1€ \z,grﬁlgg;ﬂ
HITEE
M30R =} BEER
WEEGR
[
58
| 042 | e
36 e i
Ay i
| L HHH R
HETAT
M30x1.5 \2-!%&?&
HERE

21



OMmRON

W% E A1 e
R T SERNBLEBNTETLS.
AXIFEAE, BSLERAES.
RE %FF& HENER~MH
E2EE R34 E2E NEXTER3%&R
RZE M EE EAY10% 1 EE A9 15%
ERBEEE DC 10~40V DC 10~30V
THFEERR 13mAL T 16mALLT
5 AR P P A
NIRRT ae B
T JIS C 0920 Hit1 IP67G B 48 . e 2 et B ot
(ATIAEMRE fifd) s St S {E24
i T HENBR~MH
E2E2E /3% E2E NEXTE 3%
NE S MEE A 10% SN EE A 15%
THFEERR 13mAL T 16mAIL T
i R T =]
EESRRAT ae B
-~y JBcowo@ﬁ1~PmG M@ﬁmﬂmﬁwﬁgﬁ
(ATBIRERERAE fid i) it s SE S {E245F
=i #= = m HENER™R
E2EMER3&R E2E NEXTE#R3&=R
ME MEEERI10% M EEERI15%
ERBEEE DC 10~40V DC 10~30V
THFERR 13mAL T 16MAL T
5 AR P T =]
BEHRRAT AN Bt
-~y JBcowo@ﬁ1~PmG M@ﬁmﬂmﬁwﬁgﬁ
(ATBIRERERAE fid i) i s SE S B2
WEN{E4FE

MRRAKMERFHN~mER, RUNXE/LFEE, ERSREEMNNRELETN. Eit, FRANAESIRRE

ERREETIR

BXIFERAE, FEREARBF. MBBMERRAS.

AIEEPRBHNAERNRALTNNETNES. AIRFNELE, BFRITEA.
AEERIEH T EEAR LNERRES. AXERIEENFEARGATRNAS, BSLRE~RER. ABH. ERRABMFEM.

22






